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Algebraically, find al values of xin the interval
[0.2m) that make the following equation true.
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Agebraically, find all values of xin the interval
[0.21) that make the following equation true.

2gosxsinx—cosy =0
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Qsex—|=D
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YouTry! Findallvalues of x that are solutions to:

Algebraicaly, find all values of xin the nterval 2sin"x+sinx=1 g=s
[0.2r) that make the following equation true. A5 X+ Gax = | =0 g+ y-\=0
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Your Tur!
Find all values of x that are solutions to:

a)cos’ x—4dcosx+1=0

b)3sinr =2cos’ 1
Bsint~ Qt=0
Bl - A< )<0

Use a calculator to find@lPvalues of x that are
solutions to os x = 045

5 e
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5.1 Day 1-Fundamental Identities
(pg. 444.51)

What exactly does "=" mean?

4) 1+1=2 - equality of real numbers ahays true

2) 20 - 3) = 2x -6 “equivalent expressions aiways true

3)>2 +3=7- open sentence may or may not be true
(Gepending on valuels) of )

G0e)
4)02- 1) = (x- 1) -identit, ahways trueif and only if
(52} X the Gomain of both expressions
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A trigonometric identity s a mathematical
statementthatis true for all values of the variable for Basic Trig Identities
which bothsides of the equation are defined

Reciprocal Identities:
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Quotient Identities:

fanp= a8
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The Pythagorean Identities
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We can use cos®8 + sin6 = 1 1o erive two other
Pythagorean Identities. .
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Many times we can simplify trig expressions
using algebraic techniques.

Simplify the expression sin’ x +sin.xcos’ x

Siox (@1 x + o)
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5.1-Fundamental Identities Day 2





